(A

"'———'_:>———J »[\/0 =<ug
pedx S
\) X=o
X< ©
— £ Wiy = B
= W = — R Y] = R Yn)

X 70
)G\L /1
— 5_‘;\-1“?() + Vo W) = EWXJ

rl J Vo
K= K= U’:C\° EJ
= YN = Fe T e el

(]‘J(\(’)C%M):D > G=0
Now bou\l&AO\r conditions et X=0O
O Y (x=o-) = ¥x= ot)
:7 N A8 = F
& Wlx=o0—) — W (x=0+)
=S ThiA —8B) = KR D A-B=LF

) 2A= (1 +55)F
= = =
+ S5 A

{
= F-K = —— A

ESCAY
((MAS 1 ——'5‘(: { = ~

W orw| = [P e




- = 2
\,ly(,\(j\-:_:(/*l’l_leck_’)(’_{_%eb—%&

ACT+ & BT et (3)37)
N e - 9 MU Col 2 M -3
A [+ = 1+ () G
C s -+ C.)L Thas _3 ~ &
(7\_1: : > = g A e T2
Kﬁf—ec“:‘_’) /& c,g'l-r/‘/\ CosH— l {‘é:)

V(N —
A =0 — L\H\”C (£ co5 &)
B R Gl 5 I
. [+EE"
— 4
0 )
To- x>0
Yty | T = ([FI1Z a7 = 4 —orp -
- A \AlT
— {\( 971_% _0/ T eﬁ:]""
axX ’X'—c7<’/ — O
Tlraans
x40 |
N oalAl




\LC

(O

T= \=R=0 , Hor any E L%

/ w i 0 v f“<<{
AL 4 Ar \/5 = |
Le-e)j ASSUAWME_ A:( £ STMP(?—FH the oulﬁeérq
) et — >
R e Sile X < = 67_‘12_9<
Ve T g
= B
AS We CL:\A TV\ OKASS/ h(: \)ZV‘NC_E"UD)*-
h?.'l \JLW\-E
) O\V\Ci [K( < l(l—i/ . /l//\"
No o bowndar ¢ ondlitTons re—UerQ
O  Wlo)= Wi(ot)
f-%; R = kK l
& U Co-) = U (ot )
the ( | =8 )= Thk.F
= -8B = —(L—’:F\
b o 2
=2 2 =0Z)F2 F= T
N S8
B=h o= PR
For— X O .
\ ol T= 11t ee ‘k] = |+B +R( %€ k‘*)

= R4 2B o k(X




1 > 4

b / (,L—-%&}U — F —
Ey x> O Chot )
o | "= B\ =
gf/ﬁauﬁe_ (Qr<&“—/
\lﬂzcxﬁ [y |7~
g S—
5‘ Clth)>*
b ~= -
) 2
- £ Z___ 2—’_ "Z—c"’k-z.
= [p| =0 - &)
— [ (e —JE =
m—e—\)’é_
2.
S B Sy ] T
e AL e Ry Chet foa) =
—_ b ko Lr"j—g_v")c_
SR
(hth ) (Sew «JE)™
Pko\o 2. 24

Fovrier— timnctfora ofj— or(ﬁj T
Flp) = ﬁ g’: Jiw & d

_ 1 — Thto) _ s
e © =~ Sz

o Kot = iz (Rl e™lae 55 (ot



>

b

(Prob. 2.37

T (xo)= AFRCTx/a)  o{X <q
K

= T ~22\ 3
Sn? K = (6“ — < j ___53‘7_3@ 364
= —<T

(= /\\
(a+\a)3— A% 4 3atbt 3oh p L

= (e’:t?( f39<) +}—(6Lx ecpc)
Zm =

2 C

= _%% Sin3x 'f 34\_ s T
Thas  Uy.0) = (}sm( __,) T (3:\/9
= £ (i "‘P”‘ —= LP\cw>
- ’é(?@ (34rcr) =W )
Norwdliytion veqpires

= @—"‘—*@H (£85)"

5_
— i 1« AV
A lé 2 T < Z>: E?\
= A= . 1L
So, (oo

oo PY.0) = ?JST’;\ ‘ @(. 3 V() ~U3(%) )
= TFL’:? <3’{/;(7f)—1{’}(7€})

(

’TA. A_S

Toxt)= gz (s b e = t—”#‘m; 539
}?fo’f’)(?—: 7—:; <Ol 'LP?L.%_ 'L}/Eb 3 L‘/,\llgéj-/}?lt




[ s eos( )

cxr= (pnofdne 2 [ ayds I
SRCAIA St AN AL

a .
Dae o symuctry, Sa tywdx = 3

2
forany"n’
O\ ~
), whidrs T4 xS TR ds
)
=2 STL_%‘}\;\(V\(\J) 57&(30) i'}_

= R\COS (y ) —cos (47)14%
% [— %_E sMClv) s(v\(%vl+L‘°S(2\‘f <°5457JF
O

>




(Cc)

Y (=) =Z (0 (x+a) —ix-a))

LV
{p7= Jf’:; S W= (X.0) ix Yr o) doe

= % g (;e—(x—w\) —@(fx—a\j

. [_?co(—eo\) — F(Q(—-o\)_l Q(k

= j—ai}f_mw — & (200
— & (Cz=~) %9(0)3
\ S -o—\v+~411) =0

oy = i | [oten) —screan
[__S_(C’Y’%O\) —‘S/C')C—o\):] %ﬁ)(

—_Zmi, Le(o —s(—za)J

v LefCan) —e'(o) ]

:—: _1§(o)+&‘y£ +§/ZL]

P
——— /‘7\ g\lO) = o<

cxy = 2= | xex =0

-

‘e oeld Th“eejf‘QV\Q[

N 077~€x;oc Pl

M,’LCQV"f_%:/_h'%j Fr?u\c,—zzo(e_ Aa(OQS‘

-



